

Pay Estimate Created Date: September 16, 2020

Progres	s Estimate Number	Contract ID	180817-A04	Pay Period Start	September 2, 2020	Original Contract Amou	nt \$2,064,457.56
37		Prime Contractor	Lehman Construction	^{n,} Pay Period End	September 15, 2020	Net Change Order Amount Current Contract Amou	(\$74,671.43) nt \$1,989,786.13
Approval Date							By User
September 16, 2020			Generated and Appro	oved (and should be co	nsidered Draft) at th	e Project Office Level by	skippj1
September 17, 2020		R	eviewed and Approved	(and should be conside	ered Draft) at the Re	sident Engineer Level by	gillej
September 18, 2020			Revie	ewed and Approved at	the Central Office Co	ontrollers Office Level by	greggd1
Original Comp	letion Date	Current C	Completion Date	Actual Completion	Date % of	f Current Contract Amou	nt Complete
December ?	1, 2019	Ma	y 15, 2020	May 29, 2020		98.57%	
No Milestones Exist	for Contract						

Contract Total Pay For Estimate No. 37 This Estimate Previous To Date 180817-A04 Total Posted Items Pay \$0.00 \$1,961,234.89 \$1,961,234.89 \$0.00 \$0.00 Gross Item Adjustments (\$16,363.54) (\$16,363.54) Incentive \$0.00 \$0.00 Disincentive \$0.00 \$0.00 \$0.00 Liquidated Damage \$0.00 \$0.00 \$0.00 Other Contract Adjustments \$0.00 \$0.00 \$0.00 \$1,944,871.35 \$1,944,871.35 Contract Total Payable This Estimate: \$0.00 Items Paid This Estimate Period No Data Available Contract Adjustments This Estimate No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

No Data Available



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

	Contract Project Information											
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work							
J1P3175	FAF 24-1(80)	Bridge rehabilitation	24, 65	CARROLL	1.9 miles north of the Missouri River near Carrollton							
J1P3176	FAF 24-1(81)	Bridge rehabilitation	24, 65	CARROLL	over Wakenda Creek, 0.5 miles north of Route 10 near Carrollton							
J1P3177	FAF 24-2(33)	Bridge rehabilitation	24	CHARITON	over Long Creek, 0.7 miles west of Route KK near Keytesville							

Totals by Job Numbers

J1P3175		This Estimate	Previous	To Date
0.11 0 11 0	Posted Item Pay	\$0.00	\$368,870.53	\$368,870.53
	Gross Item Adjustments	\$0.00	(\$13,543.54)	(\$13,543.54)
	Gross Item Pay	\$0.00	\$355,326.99	\$355,326.99
	Gross item ray	40.00	\$555,526.55	\$333,520.33
	Incentive	\$0.00	\$0.00	\$0.00
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated Damages	\$0.00	\$0.00	\$0.00
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00
	-	· · · · · · · · · · · · · · · · · · ·		
J1P3176		This Estimate	Previous	To Date
	Posted Item Pay	\$0.00	\$1,076,147.48	\$1,076,147.48
	Gross Item Adjustments	\$0.00	(\$2,820.00)	(\$2,820.00)
	Gross Item Pay	\$0.00	\$1,073,327.48	\$1,073,327.48
		AA AA	* *	A0 00
	Incentive	\$0.00	\$0.00	\$0.00
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated Damages	\$0.00	\$0.00	\$0.00
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00
J1P3177	[This Estimate	Previous	To Date
	Posted Item Pay	\$0.00	\$187.116.59	\$187,116.59
	Gross Item Adjustments	\$0.00	\$0.00	\$0.00
	Gross Item Pay	\$0.00	\$187,116.59	\$187,116.59
	Incentive	\$0.00	\$0.00	\$0.00
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated Damages	\$0.00	\$0.00	\$0.00
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00
J1P3178				
J1P3178		This Estimate	Previous	To Date
	Posted Item Pay	\$0.00 \$0.00	\$329,100.29 \$0.00	\$329,100.29
				\$0.00
	Gross Item Adjustments			
	Gross Item Adjustments Gross Item Pay	\$0.00 \$0.00	\$329,100.29	\$329,100.29
	Gross Item Pay	\$0.00	\$329,100.29	\$329,100.29
	Gross Item Pay	\$0.00 \$0.00	\$329,100.29 \$0.00	\$329,100.29 \$0.00
	Gross Item Pay Incentive Disincentive	\$0.00 \$0.00 \$0.00	\$329,100.29 \$0.00 \$0.00	\$329,100.29 \$0.00 \$0.00
	Gross Item Pay	\$0.00 \$0.00	\$329,100.29 \$0.00	\$329,100.29 \$0.00



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Exceeded Completion Time Exception: Contract 180817-A04, Time ID 00 DT, Time Type Completion Date, Current Completion Date 5/15/2020 12:00:00 PM.	Waiting on RE decision.	skippj1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 180817-A04, Contract Project J1P3175, Project Item Line Number 0050, Item 4071005, Minor Item.	Waiting on Chang Order Approval.	skippj1	Acknowledged



Total Paid / All Items / All Estimates (Including this Estimate) Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

					eport Generated date and can differ from the posted amo							
RACT	Project No.	Category	Line No.	ltem Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
04	J1P3175	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$18,900.00	\$18,900.00
		0001	0020	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	8.00	0.00	8.00	TONS	8.00	\$300.00	\$2,400.00
		0001	0030	4019905	MISC.OPTIONAL SHOULDER	1,333.30	0.00	1,333.30	SQYD	1,333.30	\$59.00	\$78,664.70
		0001	0040	4030101	ASPHALTIC CONCRETE MIXTURE PG 64-22 (SP125C MIX)	94.60	0.00	94.60	TONS	79.60	\$190.00	\$15,124.00
		0001	0050	4071005	TACK COAT	87.00	0.00	87.00	GAL	97.00	\$5.00	\$485.00
		0001	0060	6122014	IMPACT ATTENUATOR 60 MPH (SAND BARRELS)	2.00	0.00	2.00	EA	2.00	\$2,800.00	\$5,600.00
		0001	0070	6122020	REPLACEMENT SAND BARREL	2.00	0.00	2.00	EA	0.00	\$100.00	\$0.00
		0001	0080	6122030	IMPACT ATTENUATOR (RELOCATION)	2.00	0.00	2.00	EA	2.00	\$1,500.00	\$3,000.00
		0001	0090	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$2,000.00	\$0.00
		0001	0100	6161005	CONSTRUCTION SIGNS	409.00	59.00	468.00	SQFT	465.00	\$6.35	\$2,952.75
		0001	0110	6161008	ADVANCED WARNING RAIL SYSTEM	8.00	0.00	8.00	EA	8.00	\$50.00	\$400.00
		0001	0120	6161009	FLAG ASSEMBLY	4.00	0.00	4.00	EA	4.00	\$25.00	\$100.00
		0001	0130	6161028	CHANNELIZER	25.00	0.00	25.00	EA	25.00	\$16.00	\$400.00
		0001	0140	6161040	FLASHING ARROW PANEL	2.00	0.00	2.00	EA	0.00	\$1,200.00	\$0.00
		0001	0150	6162000A	WORK ZONE TRAFFIC SIGNAL SYSTEM	1.00	0.00	1.00	EA	1.00	\$8,000.00	\$8,000.00
		0001	0160	6162002	TEMPORARY LONG-TERM RUMBLE STRIPS	4.00	0.00	4.00	EA	4.00	\$1,000.00	\$4,000.00
		0001	0170	6173600D	TEMPORARY TRAFFIC BARRIER, CONTRACTOR FURNISHED /	325.00	0.00	325.00	LF	325.00	\$23.00	\$7,475.00
		0001	0180	6175010A	RETAINED RELOCATING TEMPORARY TRAFFIC BARRIER	325.00	0.00	325.00	LF	325.00	\$11.00	\$3,575.00
		0001	0190	6181000	MOBILIZATION	1.00	0.00	1.00	LS		\$15,000.00	\$15,000.00
		0001	0200	6205301B	TEMPORARY REMOVABLE MARKING TAPE 4 IN., WHITE	810.00	0.00	810.00	LF	810.00	\$1.50	\$1,215.00
		0001	0210	6205303B	TEMPORARY REMOVABLE MARKING TAPE 4 IN., YELLOW	2,000.00	0.00	2,000.00	LF	2,000.00	\$1.50	\$3,000.00
		0001	0220	6205309	TEMPORARY REMOVABLE MARKING TAPE, 24 IN., WHITE	52.00	0.00	52.00	LF	26.00	\$12.00	\$312.00
		0001	0230	6205901A	4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT	626.00	0.00	626.00	LF	626.00	\$2.00	\$1,252.00
					MARKING PAINT, TYPE L BEADS							
		0001	0240	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	1,521.00	0.00	1,521.00	LF	1,521.00	\$2.00	\$3,042.00
		0001	0250	6207001	PAVEMENT MARKING REMOVAL	1,971.00	0.00	1,971.00	LF	1,971.00	\$0.50	\$985.50
		0001	0260	6221003	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (GREATER THAN 3 IN. THICK)	1,333.00	0.00	1,333.00	SQYD	1,333.00	\$9.00	\$11,997.00
		0001	0270	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	867.00	0.00	867.00	SQYD	867.00	\$11.00	\$9,537.00
		0001	0280	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	12.00	0.00	12.00	STA	12.00	\$800.00	\$9,600.00
		0010	0290	6061060	MGS GUARDRAIL	125.00	0.00	125.00	LF	125.00	\$23.08	\$2,885.00
		0010	0300	6061068	MGS BRIDGE APPROACH TRANSITION SECTION (EXTENDED CURB)	4.00	0.00	4.00	EA	4.00	\$2,940.77	\$11,763.08
		0010	0310	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	4.00	0.00	4.00	EA	4.00	\$2,940.50	\$11,762.00
		0070	0320	2161503	REMOVAL OF EXISTING DECK REPAIR	50.00	0.00	50.00	SQFT	0.00	\$150.00	\$0.00
		0070	0330	2169904	MISC.REMOVAL OF EPOXY POLYMER OVERLAY	4,510.00	0.00	4,510.00	SQFT	4,510.00	\$1.25	\$5,637.50
		0070	0340	5052000	LATEX MODIFIED CONCRETE WEARING SURFACE	501.00	0.00	501.00	SQYD	501.00	\$132.00	\$66,132.00
		0070	0350	7034600	CURB BLOCKOUT	227.00	0.00	227.00	LF	227.00	\$95.00	\$21,565.00
		0070	0360	7040104	HALF-SOLE REPAIR	100.00	-100.00	0.00	SQFT	0.00	\$95.00	\$0.00
		0070	0370	7040109	TOTAL SURFACE HYDRO DEMOLITION	270.00	0.00	270.00	SQYD	270.00	\$49.00	\$13,230.00
		0070	0380	7040113	CLEANING AND EPOXY COATING	975.00	0.00	975.00	SQFT	0.00	\$4.25	\$0.00
		0070	0390	7040115	HYDRO SURFACE PROFILING	231.00	0.00	231.00	SQYD	231.00	\$29.00	\$6,699.00
		0070	0400	7040117	MONOLITHIC DECK REPAIR	8.00	5.50	13.50	CUYD	13.50	\$600.00	\$8,100.00
		0070	0410	7129902	MISC.CORED SLAB DRAINS	16.00	0.00	16.00	EA	16.00	\$880.00	\$14,080.00
	Project J		otal Value	Pos <u>ted to D</u>	ate as of Report Generated Date							\$368,870.53
	J1P3176	0001	0420	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$19,800.00	\$19,800.00
		0001	0430	3049910	MISC.PERMENATE AGGREGATE EDGE TREATMENT	8.00	0.00	8.00	TONS	8.00	\$300.00	\$2,400.00
		0001	0440	4019905	MISC.OPTIONAL SHOULDER	1,333.30	0.00	1,333.30	SQYD	1,333.00	\$59.00	\$78,647.00



Total Paid / All Items / All Estimates (Including this Estimate)

Vote: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Note: Posted Q	uantities				eport Generated date and can differ from the posted amo	ount at the	time the	Estimate wa	as Gene	rated.		
Contract Nm.CONTRACT	Project No.	Category	Line No.	ltem Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
180817-A04	J1P3176	0001	0450	4030101	ASPHALTIC CONCRETE MIXTURE PG 64-22 (SP125C MIX)	94.60	0.00	94.60	TONS	94.60	\$190.00	\$17,974.00
		0001	0460	4071005	TACK COAT	98.00	0.00	98.00	GAL	98.00	\$5.00	\$490.00
		0001	0470	6122014	IMPACT ATTENUATOR 60 MPH (SAND BARRELS)	2.00	0.00	2.00	EA	2.00	\$2,800.00	\$5,600.00
		0001	0480	6122020	REPLACEMENT SAND BARREL	2.00	-2.00	0.00	EA	0.00	\$100.00	\$0.00
		0001	0490	6122030	IMPACT ATTENUATOR (RELOCATION)	2.00	0.00	2.00	EA	2.00	\$1,800.00	\$3,600.00
		0001	0500	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$2,000.00	\$0.00
		0001	0510	6161005	CONSTRUCTION SIGNS	409.00	32.00	441.00	SQFT	416.00	\$6.35	\$2,641.60
		0001	0520	6161008	ADVANCED WARNING RAIL SYSTEM	8.00	0.00	8.00	EA	8.00	\$50.00	\$400.00
		0001	0530	6161009	FLAG ASSEMBLY	4.00	0.00	4.00	EA	4.00	\$25.00	\$100.00
		0001	0540	6161028	CHANNELIZER	25.00	0.00	25.00	EA	25.00	\$16.00	\$400.00
		0001	0550	6161040	FLASHING ARROW PANEL	2.00	0.00	2.00	EA	0.00	\$1,500.00	\$0.00
		0001	0560	6162000A	WORK ZONE TRAFFIC SIGNAL SYSTEM	1.00	0.00	1.00	EA	1.00	\$8,000.00	\$8,000.00
		0001	0570	6162002	TEMPORARY LONG-TERM RUMBLE STRIPS	4.00	2.00	6.00	EA	6.00	\$1,000.00	\$6,000.00
		0001	0580	6173600D	TEMPORARY TRAFFIC BARRIER, CONTRACTOR FURNISHED / RETAINED	1,000.00	0.00	1,000.00	LF	1,000.00	\$21.00	\$21,000.00
		0001	0590	6175010A	RELOCATING TEMPORARY TRAFFIC BARRIER	1,000.00	0.00	1,000.00	LF	1,000.00	\$11.00	\$11,000.00
		0001	0600	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$15,000.00	\$15,000.00
		0001	0610	6205301B	TEMPORARY REMOVABLE MARKING TAPE 4 IN., WHITE	1,790.00	0.00	1,790.00	LF	1,790.00	\$1.50	\$2,685.00
		0001	0620	6205303B	TEMPORARY REMOVABLE MARKING TAPE 4 IN., YELLOW	2,000.00	0.00	2,000.00	LF	2,000.00	\$1.50	\$3,000.00
		0001	0630	6205309	TEMPORARY REMOVABLE MARKING TAPE, 24 IN., WHITE	52.00	-26.00	26.00	LF	26.00	\$12.00	\$312.00
		0001	0640	6205901A	4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	781.00	0.00	781.00	LF	781.00	\$1.00	\$781.00
		0001	0650	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	2,174.00	0.00	2,174.00	LF	2,174.00	\$1.00	\$2,174.00
		0001	0660	6207001	PAVEMENT MARKING REMOVAL	2,594.00	0.00	2,594.00	LF	2,594.00	\$0.50	\$1,297.00
		0001	0670	6221003	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (GREATER THAN 3 IN. THICK)	1,333.00	0.00	1,333.00	SQYD	1,333.00	\$11.00	\$14,663.00
		0001	0680	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	978.00	0.00	978.00	SQYD	978.00	\$9.00	\$8,802.00
		0001	0690	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	12.00	0.00	12.00	STA	12.00	\$800.00	\$9,600.00
		0010	0700	6061060	MGS GUARDRAIL	150.00	0.00	150.00	LF	150.00	\$23.08	\$3,462.00
		0010	0710	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	4.00	0.00	4.00	EA	4.00	\$2,857.70	\$11,430.80
		0010	0720	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	4.00	0.00	4.00	EA	4.00	\$2,904.50	\$11,618.00
		0070	0730	2161503	REMOVAL OF EXISTING DECK REPAIR	100.00	-100.00	0.00	SQFT	0.00	\$68.00	\$0.00
		0070	0740	2164500	REMOVAL OF EXISTING EXPANSION JOINT & ADJACENT CONCRETE	134.00	0.00	134.00	LF	134.00	\$145.00	\$19,430.00
		0070	0750	2169902	MISC.RESETTING EXISTING NEOPRENE BEARING PADS	24.00	-24.00	0.00	EA	0.00	\$988.00	\$0.00
		0070	0760	2169904	MISC.REMOVAL OF EPOXY POLYMER CONCRETE OVERLA Y	25,166.00	0.00	25,166.00	SQFT	25,166.00	\$1.25	\$31,457.50
		0070	0770	5052000	LATEX MODIFIED CONCRETE WEARING SURFACE	2,767.00	0.00	2,767.00	SQYD	2,767.00	\$129.00	\$356,943.00
		0070	0780	7034001	CLASS B-1 CONCRETE	37.60	0.00	37.60	CUYD	37.60	\$427.00	\$16,055.20
		0070	0790	7034600	CURB BLOCKOUT	1,180.00	0.00	1,180.00	LF	1,180.00	\$98.00	\$115,640.00
		0070	0800	7040101	SUBSTRUCTURE REPAIR (FORMED)	420.00	-291.00	129.00	SQFT	129.00	\$65.00	\$8,385.00
		0070	0810	7040109	TOTAL SURFACE HYDRO DEMOLITION	2,767.00	0.00	2,767.00	SQYD	2,767.00	\$24.10	\$66,684.70
		0070	0820	7040113	CLEANING AND EPOXY COATING	4,070.00	0.00	4,070.00	SQFT	4,070.00	\$3.73	\$15,181.10
		0070	0830	7040117	MONOLITHIC DECK REPAIR	40.00	4.70	44.70	CUYD	44.70	\$600.00	\$26,820.00
		0070	0840	7101000	REINFORCING STEEL (EPOXY COATED)	5,740.00	0.00	5,740.00	LB	5,740.00	\$2.10	\$12,054.00
		0070	0850	7110200	PROTECTIVE COATING - CONCRETE BENTS AND PIERS	1.00	0.00	1.00	LS	1.00	\$3,885.00	\$3,885.00
					(EPOXY)							
		0070	0860	7129902		104.00	0.00	104.00	EA	104.00	\$655.00	\$68,120.00
		0070	0870	7129902	MISC.GALVANIZED STOPPER PLATE ASSEMBLY	24.00	0.00	24.00	EA	24.00	\$1,050.00	\$25,200.00
		0070	0880	7172001	STRIP SEAL EXPANSION JOINT SYSTEM	89.00	0.00	89.00	LF	89.00	\$444.24	\$39,537.36



Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Note: Posted Q	uantities	and Valu	es are b	ased on R	eport Generated date and can differ from the posted amo	ount at the	time the	Estimate wa	as Gene	rated.		
Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
180817-A04	J1P3176	0070	5001	6214600A	FLOWABLE BACKFILL	0.00	7.10	7.10	CUYD	7.10	\$898.20	\$6,377.22
		0070	5002	6181000	MOBILIZATION	0.00	1.00	1.00	LS	1.00	\$1,500.00	\$1,500.00
	Project J1	1P3176 - To	otal Value	Posted to D	Date as of Report Generated Date							\$1,076,147.48
	J1P3177	0001	0890	6122014	IMPACT ATTENUATOR 60 MPH (SAND BARRELS)	2.00	0.00	2.00	EA	2.00	\$2,800.00	\$5,600.00
		0001	0900	6122020	REPLACEMENT SAND BARREL	2.00	-2.00	0.00	EA	0.00	\$200.00	\$0.00
		0001	0910	6122030	IMPACT ATTENUATOR (RELOCATION)	2.00	0.00	2.00	EA	2.00	\$1,800.00	\$3,600.00
		0001	0920	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	2.00	\$2,500.00	\$5,000.00
		0001	0930	6161005	CONSTRUCTION SIGNS	313.00	0.00	313.00	SQFT	313.00	\$6.35	\$1,987.55
		0001	0940	6161008	ADVANCED WARNING RAIL SYSTEM	8.00	0.00	8.00	EA	8.00	\$50.00	\$400.00
		0001	0950	6161009	FLAG ASSEMBLY	2.00	0.00	2.00	EA	2.00	\$25.00	\$50.00
		0001	0960	6161028	CHANNELIZER	12.00	0.00	12.00	EA	12.00	\$16.00	\$192.00
		0001	0970	6161040	FLASHING ARROW PANEL	2.00	0.00	2.00	EA	2.00	\$1,500.00	\$3,000.00
		0001	0980	6162000A	WORK ZONE TRAFFIC SIGNAL SYSTEM	1.00	0.00	1.00	EA	1.00	\$8,000.00	\$8,000.00
		0001	0990	6162002	TEMPORARY LONG-TERM RUMBLE STRIPS	4.00	0.00	4.00	EA	4.00	\$1,000.00	\$4,000.00
		0001	1000	6173600D	TEMPORARY TRAFFIC BARRIER, CONTRACTOR FURNISHED / RETAINED	850.00	0.00	850.00	LF	850.00	\$24.00	\$20,400.00
		0001	1010	6175010A	RELOCATING TEMPORARY TRAFFIC BARRIER	850.00	0.00	850.00	LF	850.00	\$11.00	\$9,350.00
		0001	1020	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$20,000.00	\$20,000.00
		0001	1030	6205301B	TEMPORARY REMOVABLE MARKING TAPE 4 IN., WHITE	1,845.00	0.00	1,845.00	LF	1,845.00	\$1.50	\$2,767.50
		0001	1040	6205303B	TEMPORARY REMOVABLE MARKING TAPE 4 IN., YELLOW	2,000.00	0.00	2,000.00	LF	2,000.00	\$1.50	\$3,000.00
		0001	1050	6205309	TEMPORARY REMOVABLE MARKING TAPE, 24 IN., WHITE	52.00	-26.00	26.00	LF	26.00	\$12.00	\$312.00
		0001	1060	6205901A	4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT	594.00	0.00	594.00	LF	594.00	\$2.00	\$1,188.00
		0001	1070	6205902A	MARKING PAINT, TYPE L BEADS 6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING	1,245.00	0.00	1,245.00	LF	1,245.00	\$2.00	\$2,490.00
		0001	1080	6207001	PAINT, TYPE L BEADS PAVEMENT MARKING REMOVAL	1,739.00	0.00	1,739.00	LF	1,739.00	\$0.50	\$869.50
		0070	1090	2164500	REMOVAL OF EXISTING EXPANSION JOINT & ADJACENT CONCRETE	44.00	0.00	44.00	LF	44.00	\$280.00	\$12,320.00
		0070	1100	2169902	MISC.RESETTING EXISTING NEOPRENE BEARING PADS	12.00	-9.00	3.00	EA	3.00	\$3,500.00	\$10,500.00
		0070	1110	2169903	MISC.REMOVE AND REPLACE BARRIER CURB	8.00	0.00	8.00	LF	8.00	\$299.00	\$2,392.00
		0070	1120	7034001	CLASS B-1 CONCRETE	11.10	0.00	11.10	CUYD	11.10	\$699.00	\$7,758.90
		0070	1130	7101000	REINFORCING STEEL (EPOXY COATED)	3,740.00	319.00	4,059.00	LB	4,059.00	\$3.50	\$14,206.50
		0070	1140	7110200	PROTECTIVE COATING - CONCRETE BENTS AND PIERS (EPOXY)	1.00	0.00	1.00	LS	1.00	\$1,812.32	\$1,812.32
		0070	1150	7125102	SURFACE PREPARATION FOR APPLYING EPOXY-MASTIC PRIMER	1.00	0.00	1.00	LS	1.00	\$6,740.16	\$6,740.16
		0070	1160	7125960	ALUMINUM EPOXY-MASTIC PRIMER	1.00	0.00	1.00	LS	1.00	\$6,740.16	\$6,740.16
		0070	1170	7129902	MISC.GALVANIZED STOPPER PLATE ASSEMBLY	12.00	0.00	12.00	EA	12.00	\$1,200.00	\$14,400.00
		0070	1180	7172001	STRIP SEAL EXPANSION JOINT SYSTEM	44.00	0.00	44.00	LF	44.00	\$410.00	\$18,040.00
	Project J1	1P3177 - To	otal Value	Posted to D	Date as of Report Generated Date							\$187,116.59
	J1P3178	0001	1190	6122014	IMPACT ATTENUATOR 60 MPH (SAND BARRELS)	2.00	0.00	2.00	EA	2.00	\$2,800.00	\$5,600.00
		0001	1200	6122020	REPLACEMENT SAND BARREL	2.00	-2.00	0.00	EA	0.00	\$200.00	\$0.00
		0001	1210	6122030	IMPACT ATTENUATOR (RELOCATION)	2.00	0.00	2.00	EA	2.00	\$1,800.00	\$3,600.00
		0001	1220	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	2.00	\$2,000.00	\$4,000.00
		0001	1230	6161005	CONSTRUCTION SIGNS	313.00	0.00	313.00	SQFT	313.00	\$6.35	\$1,987.55
		0001	1240	6161008	ADVANCED WARNING RAIL SYSTEM	8.00	0.00	8.00	EA	8.00	\$50.00	\$400.00
		0001	1250	6161009	FLAG ASSEMBLY	2.00	0.00	2.00	EA	2.00	\$25.00	\$50.00
		0001	1260	6161028	CHANNELIZER	12.00	0.00	12.00	EA	12.00	\$16.00	\$192.00
		0001	1270	6161040	FLASHING ARROW PANEL	2.00	0.00	2.00	EA	2.00	\$1,500.00	\$3,000.00
		0001	1280	6162000A	WORK ZONE TRAFFIC SIGNAL SYSTEM	1.00	0.00	1.00	EA	1.00	\$12,000.00	\$12,000.00
		0001	1290	6162002	TEMPORARY LONG-TERM RUMBLE STRIPS	4.00	0.00	4.00	EA	4.00	\$1,000.00	\$4,000.00



Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract n.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
)817-A04	J1P3178	0001	1300	6173600D	TEMPORARY TRAFFIC BARRIER, CONTRACTOR FURNISHED / RETAINED	788.00	0.00	788.00	LF	788.00	\$21.00	\$16,548.00
		0001	1310	6175010A	RELOCATING TEMPORARY TRAFFIC BARRIER	788.00	0.00	788.00	LF	788.00	\$11.00	\$8,668.00
		0001	1320	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$15,000.00	\$15,000.00
		0001	1330	6205301B	TEMPORARY REMOVABLE MARKING TAPE 4 IN., WHITE	1,660.00	0.00	1,660.00	LF	1,660.00	\$1.50	\$2,490.00
		0001	1340	6205303B	TEMPORARY REMOVABLE MARKING TAPE 4 IN., YELLOW	2,000.00	0.00	2,000.00	LF	2,000.00	\$1.50	\$3,000.0
		0001	1350	6205309	TEMPORARY REMOVABLE MARKING TAPE, 24 IN., WHITE	52.00	-26.00	26.00	LF	26.00	\$12.00	\$312.0
		0001	1360	6205901A	4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	556.00	0.00	556.00	LF	556.00	\$1.50	\$834.00
		0001	1370	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	2,023.00	0.00	2,023.00	LF	2,023.00	\$1.50	\$3,034.5
		0001	1380	6207001	PAVEMENT MARKING REMOVAL	2,474.00	0.00	2,474.00	LF	2,474.00	\$0.50	\$1,237.0
		0070	1390	2164500	REMOVAL OF EXISTING EXPANSION JOINT & ADJACENT CONCRETE	102.00	0.00	102.00	LF	102.00	\$255.00	\$26,010.0
		0070	1400	2165000	REMOVAL OF EXISTING EXPANSION JOINT SEAL OR SEALANT	102.00	0.00	102.00	LF	102.00	\$60.00	\$6,120.0
		0070	1410	2169903	MISC.REMOVE AND REPLACE BARRIER CURB	20.00	0.00	20.00	LF	20.00	\$454.00	\$9,080.0
		0070	1420	7034001	CLASS B-1 CONCRETE	18.70	0.00	18.70	CUYD	18.70	\$450.00	\$8,415.0
		0070	1430	7101000	REINFORCING STEEL (EPOXY COATED)	910.00	0.00	910.00	LB	910.00	\$2.90	\$2,639.0
		0070	1440	7110200	PROTECTIVE COATING - CONCRETE BENTS AND PIERS (EPOXY)	1.00	0.00	1.00	LS	1.00	\$4,535.23	\$4,535.2
		0070	1450	7125200	SURFACE PREPARATION FOR RECOATING STRUCTURAL STEEL	3,300.00	0.00	3,300.00	SQFT	3,300.00	\$25.33	\$83,589.0
		0070	1460	7125210	FIELD APPLICATION OF INORGANIC ZINC PRIMER	3,300.00	0.00	3,300.00	SQFT	3,300.00	\$13.51	\$44,583.0
		0070	1470	7125385A	INTERMEDIATE FIELD COAT (SYSTEM H)	3,300.00	0.00	3,300.00	SQFT	3,300.00	\$1.69	\$5,577.0
		0070	1480	7125390A	FINISH FIELD COAT (SYSTEM H)	3,300.00	0.00	3,300.00	SQFT	3,300.00	\$1.69	\$5,577.0
		0070	1490	7172001	STRIP SEAL EXPANSION JOINT SYSTEM	102.00	0.00	102.00	LF	102.00	\$401.00	\$40,902.0
		0070	1500	7172054	OPEN CELL FOAM JOINT SEAL	102.00	0.00	102.00	LF	102.00	\$60.00	\$6,120.0
	Project J	1P3178 - To	otal Value	Posted to D	ate as of Report Generated Date							\$329,100.2
0817-A04 Ove	erall - Total	Value Post	ted to Da	te as of Repo	ort Generated Date							\$1,961,234.8



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work. The information below this line are details from Line Item agency views. No Agency View Details Exist



1 Sec.	Description	A	Others	F -4	One stard	One stud Dec	A	Demonto
Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0050	TACK COAT	Overrun	Overrun	30	Jun 2, 2020	SYSTEM	(\$50.00)	
			Overrun - T	otal			(\$50.00)	
	Overrun - Total						(\$50.00)	
0050 -							(\$50.00)	
0100	CONSTRUCTION SIGNS	Overrun	Overrun	28	May 5, 2020	SYSTEM	(\$355.60)	
				31	Jun 16, 2020	SYSTEM	\$355.60	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',6.35000 - 6.35000, 'is applied (if non-zero).
			Overrun - T	otal			\$0.00	
	Overrun - Total						\$0.00	
0100 -	Total						\$0.00	
0290	MGS GUARDRAIL	Construction Stockpile	STMI		Feb 15, 2020	SYSTEM	\$1,523.75	
			STMI - Total				\$1,523.75	
	MGS GUARDRAIL			28	May 4, 2020	SYSTEM	(\$609.50)	Payment Estimate Item Adjustment generated Stockpile Transaction
				29	May 17, 2020	SYSTEM	(\$914.25)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				(\$1,523.75)	
	Construction Stoc						\$0.00	
	MGS GUARDRAIL	Material		28	May 5, 2020	SYSTEM	(\$1,154.00)	
			- Total				(\$1,154.00)	
	Material - Total			_			(\$1,154.00)	
	MGS GUARDRAIL	MaterialCredit		29	May 17, 2020	SYSTEM	\$1,154.00	
			- Total				\$1,154.00	
	MaterialCredit - To						\$1,154.00	
	MGS GUARDRAIL	Other Item Adjustment	MDPA		May 18, 2020	skippj1	(\$1,731.00)	Waiting on Certificate of Origin for material.
	Other Item Adjustr	nent Tetel	MDPA - Tot	ai			(\$1,731.00)	
0000		nent - Total					(\$1,731.00)	
0290 - 0300	MGS BRIDGE APPROACH TRANSITION SECTION (EXTENDED	Construction Stockpile	STMI	1	Feb 15, 2020	SYSTEM	(\$1,731.00) \$6,608.00	
	CURB)		STMI - Total				\$6,608.00	
	MGS BRIDGE		STIWI - Total	28	Mov 4	SYSTEM		Pourment Estimate Item Adjustment serverted Stealer"
	APPROACH TRANSITION			28	May 4, 2020	SYSTEM	(\$3,304.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
	SECTION (EXTENDED CURB)			29	May 17, 2020	SYSTEM	(\$3,304.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				(\$6,608.00)	
	Construction Stoc	kpile - Total					\$0.00	
	MGS BRIDGE APPROACH TRANSITION SECTION (EXTENDED CURB)	Material		28	May 5, 2020	SYSTEM	(\$5,881.54)	
			- Total				(\$5,881.54)	
	Material - Total						(\$5,881.54)	
	MGS BRIDGE APPROACH TRANSITION SECTION (EXTENDED CURB)	MaterialCredit		29	May 17, 2020	SYSTEM	\$5,881.54	



Line	Description	Adjustment	Other	Est.	Created	Created By	Amount	Remarks
LINE	Description	Туре	Adjustment Type		Date	Created by	Amount	Reliains
0300		MaterialCredit	- Total				\$5,881.54	
	MaterialCredit - To	tal					\$5,881.54	
	MGS BRIDGE APPROACH TRANSITION SECTION (EXTENDED CURB)	Other Item Adjustment	MDPA	29	May 18, 2020	skippj1	(\$5,881.54)	Waiting on Certificate of Origin for material.
			MDPA - Tota	al			(\$5,881.54)	
	Other Item Adjustr	nent - Total					(\$5,881.54)	
0300 -	Total						(\$5,881.54)	
0310	TYPE A CRASHWORTHY END TERMINAL (MASH)	Construction Stockpile	STMI	1	Feb 15, 2020	SYSTEM	\$6,408.00	
			STMI - Tota				\$6,408.00	
	TYPE A CRASHWORTHY			28	May 4, 2020	SYSTEM	(\$3,204.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
	END TERMINAL (MASH)			29	May 17, 2020	SYSTEM	(\$3,204.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				(\$6,408.00)	
	Construction Stoc	kpile - Total					\$0.00	
	TYPE A CRASHWORTHY END TERMINAL (MASH)	Material		28	May 5, 2020	SYSTEM	(\$5,881.00)	
			- Total				(\$5,881.00)	
	Material - Total						(\$5,881.00)	
	TYPE A CRASHWORTHY END TERMINAL (MASH)	MaterialCredit		29	May 17, 2020	SYSTEM	\$5,881.00	
			- Total				\$5,881.00	
	MaterialCredit - To	tal					\$5,881.00	
	TYPE A CRASHWORTHY END TERMINAL (MASH)		MDPA	29	May 18, 2020	skippj1	(\$5,881.00)	Waiting on Certificate of Origin for material.
			MDPA - Tota	al			(\$5,881.00)	
	Other Item Adjustr	nent - Total					(\$5,881.00)	
0310 -	Total						(\$5,881.00)	
0340	LATEX MODIFIED CONCRETE WEARING SURFACE	Material		27	Apr 15, 2020	SYSTEM	(\$33,066.00)	
			- Total				(\$33,066.00)	
	Material - Total						(\$33,066.00)	
	LATEX MODIFIED CONCRETE WEARING SURFACE	MaterialCredit		28	May 5, 2020	SYSTEM	\$33,066.00	
			- Total				\$33,066.00	
	MaterialCredit - To	tal					\$33,066.00	
0340 -	Total						\$0.00	
0400	MONOLITHIC DECK REPAIR	Material		27	Apr 15, 2020	SYSTEM	(\$4,440.00)	
				28	May 5, 2020	SYSTEM	(\$8,100.00)	
			- Total				(\$12,540.00)	
	Material - Total						(\$12,540.00)	
	MONOLITHIC DECK REPAIR	MaterialCredit		28	May 5, 2020	SYSTEM	\$4,440.00	



Line	Description	Adjustment	Other	Est.	Created	Created By	Amount	Remarks	
		Туре	Adjustment Type	Number	Date				
0400	MONOLITHIC DECK REPAIR	MaterialCredit		29	May 17, 2020	SYSTEM	\$8,100.00		
			- Total				\$12,540.00		
	MaterialCredit - To	tal					\$12,540.00		
	MONOLITHIC DECK REPAIR	Overrun	Overrun	28	May 5, 2020	SYSTEM	\$3,300.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0008) overridding Payment Estimate Exception 6 on the current Payment Estimate.	
				28	May 5, 2020	SYSTEM	(\$3,300.00)		
				29	May 17, 2020	SYSTEM	(\$3,300.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).	
				31	Jun 16, 2020	SYSTEM	\$3,300.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',600.00000 - 600.00000, 'is applied (if non-zero).	
			Overrun - To	otal			\$0.00		
	Overrun - Total						\$0.00		
0400 -	Total						\$0.00		
0510	CONSTRUCTION SIGNS	Overrun	Overrun	11	Feb 15, 2020	SYSTEM	(\$44.45)	Overrun adjustment created for the following discrepancy: Est Nbr: 0011 Type: El Seq No: 1 Desc: Minor Item J1P3176 /0510 exceeds Overrun Limits. This adjustment applies to DWR Date 07/11/2019.	
				18	Feb 15, 2020	SYSTEM	\$44.45	Overrun Re-adjustment created for the previous line item overrun adjustment: Est Nbr: 0011 Prj Nbr: J1P3176 Line Item Nbr: 0510 Adjust Type: OVRN Adjust Seq Nbr: 1	
			Overrun - To	otal			\$0.00		
	Overrun - Total						\$0.00		
0510 -	Total						\$0.00		
0700	MGS GUARDRAIL		STMA	13	Feb 15, 2020	SYSTEM	(\$914.25)		
						18	Feb 15, 2020	SYSTEM	(\$914.25)
			STMA - Tota	al			(\$1,828.50)		
	MGS GUARDRAIL		STMI	1	Feb 15, 2020	SYSTEM	\$1,828.50		
			STMI - Total				\$1,828.50		
	Construction Stoc	kpile - Total					\$0.00		
0700 -	Total						\$0.00		
0710	MGS BRIDGE APPROACH TRANSITION	Construction Stockpile	STMA	13	Feb 15, 2020	SYSTEM	(\$3,304.00)		
	SECTION (REGULAR/NO CURB)			18	Feb 15, 2020	SYSTEM	(\$3,304.00)		
			STMA - Tota	al			(\$6,608.00)		
	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)		STMI	1	Feb 15, 2020	SYSTEM	\$6,608.00		
			STMI - Total				\$6,608.00		
	Construction Stoc	kpile - Total					\$0.00		
0710 -	Total						\$0.00		
0720	TYPE A CRASHWORTHY END TERMINAL	Construction Stockpile	STMA	13	Feb 15, 2020	SYSTEM	(\$3,204.00)		
	(MASH)			18	Feb 15, 2020	SYSTEM	(\$3,204.00)		
			STMA - Tota				(\$6,408.00)		
	TYPE A		STMI	1	Feb 15, 2020	SYSTEM	\$6,408.00		
	CRASHWORTHY END TERMINAL (MASH)				2020				



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks							
0720	Construction Stoc	kpile - Total					\$0.00								
0720 -	Total						\$0.00								
0770	MODIFIED CONCRETE	Other Item Adjustment	MDPA	19	Feb 15, 2020	ImportContractDataFromSiteManager	(\$6,450.00)	Entered by skippj1. Waiting on contractor sample and test reports to be uploaded through CRE20. Partial payment will be withheld until reports are uploaded.							
	WEARING SURFACE			21	Feb 15, 2020	ImportContractDataFromSiteManager	\$6,450.00	Entered by skippj1. Contractor submitted sample and test. Payment is being released.							
			MDPA - Tot	al			\$0.00								
	Other Item Adjustr	nent - Total					\$0.00								
0770 - 0780	CLASS B-1 CONCRETE	Other Item Adjustment	MDPA	11	Feb 15, 2020	ImportContractDataFromSiteManager	\$0.00 (\$1,323.70)	Entered by skippj1. Waiting on contractor sample and tests. Partial payment is being withheld until contractor submits their sample.							
				15	Feb 15, 2020	ImportContractDataFromSiteManager	(\$11,956.00)	Entered by skippj1. Waiting on contractor sample and test. Withhold payment until reports are submitted through CRE20.							
				18	Feb 15, 2020	ImportContractDataFromSiteManager	\$13,279.70	Entered by skippj1. Contractor submitted sample and test. Payment was released.							
				27	Apr 17, 2020	skippj1	(\$20,000.00)	This line item adjustment for \$-20,000.00 is for a failed expansion joint. Reimbursement will be issued when the failed expansion is fixed and replaced.							
				30	Jun 2, 2020	skippj1	\$20,000.00	The failed expansion joint was fixed. Payment is released.							
			MDPA - Tot	al			\$0.00								
	Other Item Adjustr	nent - Total					\$0.00								
0780 - 0790	Total CURB BLOCKOUT	Other Item Adjustment	MDPA	11	Feb 15, 2020	ImportContractDataFromSiteManager	\$0.00 (\$1,666.00)	Entered by skippj1. Waiting on contractor sample and tests. Partial payment is being withheld until contractor submits their							
											15	Feb 15, 2020	ImportContractDataFromSiteManager	\$1,666.00	sample. Entered by skippj1. Received sample and test from contractor. Payment was released.
										19	Feb 15, 2020	ImportContractDataFromSiteManager	(\$4,900.00)	Entered by skippj1. Waiting on contractor sample and test reports to be uploaded through CRE20. Partial payment will be withheld until reports are uploaded.	
				21	Feb 15, 2020	ImportContractDataFromSiteManager	\$4,900.00	Entered by skippj1. Contractor submitted sample and test. Payment is being released.							
			MDPA - Tot	al			\$0.00								
	Other Item Adjustr	nent - Total					\$0.00								
0790 -	Total						\$0.00								
0800	SUBSTRUCTURE REPAIR (FORMED)	Other Item Adjustment	MDPA	13	Feb 15, 2020	ImportContractDataFromSiteManager	(\$3,250.00)	Entered by skippj1. Waiting on contractor certification of material used. Partial payment is being withheld until certification is upheld.							
				14	Feb 15, 2020	ImportContractDataFromSiteManager	\$3,250.00	Entered by skippj1. Contractors certification is on file and in eproject. Payment is being released.							
				15	Feb 15, 2020	ImportContractDataFromSiteManager	\$3,250.00	Entered by skippj1. Certification was uphelp. Payment is being released. Certification is on file in eprojects.							
				20	Feb 15, 2020	ImportContractDataFromSiteManager	(\$3,250.00)	Entered by skippj1. A duplicate line item adjustment was made to release payment after certification was upheld. This line item adjustment is to correct the error.							
			MDPA - Tot	al			\$0.00								
	Other Item Adjustr	nent - Total					\$0.00								
0800 -	Total						\$0.00								
0820	CLEANING AND EPOXY COATING	Other Item Adjustment	MDPA	18	Feb 15, 2020	ImportContractDataFromSiteManager	\$1,898.57	Entered by skippj1. Waiting on contractor certification. Partial payment is being withheld.							
				20	Feb 15, 2020	ImportContractDataFromSiteManager	(\$1,898.57)	Entered by skippj1. The contractor supplied certification but the last line item adjustment that the inspector made was a positive instead of a negative. This payment is to correct the error.							
			MDPA - Tot	al			\$0.00								
	Other Item Adjustr	nent - Total					\$0.00								
0820 -	Total						\$0.00								
0830	MONOLITHIC DECK REPAIR	Other Item Adjustment	MDPA	19	Feb 15, 2020	ImportContractDataFromSiteManager	(\$3,000.00)	Entered by skippj1. Waiting on contractor sample and test reports to be uploaded through CRE20. Partial payment will be withheld until reports are uploaded.							
				20	Feb 15,	ImportContractDataFromSiteManager	\$3,000.00	Entered by skippj1. Contractor has supplied required test and							



Number Number Date Number Date Number Date Page All Page All Page All All All All All All All All All Al					_	_			-		
DECK REPAIR Adjustment Outpax-Total 50.00 Outpath Contract 50.00 Outpath Contract Con	emarks	Remarks	Amount	Created By	Created Date	Est. Number		Adjustment Type	Description	Line	
Other item Adjustment - TotalOverna	eased.	reports. Payment is being released.			2020		MDPA			0830	
MCMOUTIFUC DECREPARIA Overnam 21 59:15 SYSTEM (82.80.00) Overnam adjustment created for brained by all prime adjustment created for brained by all prime adjustment created for brained by all prime adjustment and prime adjustment a			\$0.00		MDPA - Total						
DECK REPARNumber of the sector formation of the sect			\$0.00					nent - Total	Other Item Adjustn		
(32.20.00(32.20.01 <th c<="" td=""><td>I Desc: Minor Item</td><td>Overrun adjustment created for the follo Nbr: 0021 Type: El Seq No: 1 Desc: Mir J1P3176 /0830 exceeds Overrun Lin</td><td>(\$2,820.00)</td><td>SYSTEM</td><td></td><td>21</td><td>Overrun</td><td>Overrun</td><td></td><td></td></th>	<td>I Desc: Minor Item</td> <td>Overrun adjustment created for the follo Nbr: 0021 Type: El Seq No: 1 Desc: Mir J1P3176 /0830 exceeds Overrun Lin</td> <td>(\$2,820.00)</td> <td>SYSTEM</td> <td></td> <td>21</td> <td>Overrun</td> <td>Overrun</td> <td></td> <td></td>	I Desc: Minor Item	Overrun adjustment created for the follo Nbr: 0021 Type: El Seq No: 1 Desc: Mir J1P3176 /0830 exceeds Overrun Lin	(\$2,820.00)	SYSTEM		21	Overrun	Overrun		
dts3 Total G12.20.00 Charactory skipp1. Mathania has a mpactorizacidata FromSiteManager S1.060.00 Entered by skipp1. Mathania has a mpactorizacidata FromSiteManager S1.060.00 Entered by skipp1. Mathania has a mounted or polytop1. An ingectorizacidata FromSiteManager S1.060.00 Entered by skipp1. An ingectorizacidata FromSiteManager S2.00.00 Entered by skipp1. Contractor or polytop1. An ingectorizacidata FromSiteManager S2.00.00 Entered by skipp1. Contractor or polytop1. Contractor or p			(\$2,820.00)		Overrun - Total						
840 RENEPCACINC Main and the second secon			(\$2,820.00)						Overrun - Total	- 1	
STEEL (EPOXY COATED) Adjustment 2020			(\$2,820.00)						Total	0830 -	
Image: state in the im	lts. Partial payment is being	Entered by skippj1. Material has not bee PAL process for the achor bolts. Partial withheld until material is submitted.	\$1,050.00	ImportContractDataFromSiteManager		12	MDPA		STEEL (EPOXY Adjustment	0840	
Other Item Adjustment - Total S0.00 0600 - Total 50.00 Water Report Legendary Adjustment - Total So.00 Water Report Legendary Adjustment - Total Adjustment - Total So.00 Water Report Legendary Adjustment - Total MDPA - Total ImportContractDataFromSiteManager \$2,490.00 Entered by skipp[1. ContractOre constant and the provide state of the matual state of	e on the last estimate instead of ation not going through the proper ification has been sent through re of. A -500 will be accessed on	Entered by skippj1. An inspector error o adjustment of +500 was made on the lat -500 due to contractor certification ha PAL process. Contractor certification ha and discrepancy is taken ca re of. A -50 this adjustment and will zero out this iter	(\$1,050.00)	ImportContractDataFromSiteManager		14					
0640 Total MDPA P Feb 15, 2020 ImportContractDataFromSiteManager (\$2,400.00) (\$2,400.00) Entered by skipp1. Contractor car quantities for the material. Payme extilication is on file. MDPA - Total MDPA - Total 50.00 Entered by skipp1. ContractDataFromSiteManager \$2,490.00 Entered by skipp1. ContractOr car quantities for the material. Payme extilication is on file. 100 Feb 15, TTYPE L BEADS MDPA - Total 50.00 Entered by skipp1. ContractOrt ext S0.00 100 Feb 15, Long ImportContractDataFromSiteManager (\$2,097.00) Entered by skipp1. ContractOrt ext reported. Partial payment is being reported. Partial payment is being release streported. Payment is being release			\$0.00			al	MDPA - Tota				
0440 Total MDPA P Feb 15, 2020 ImportContractDataFromSiteManager (\$2,400.00) (\$2,400.00) Entered by skipp1. Contractor car quantities for the material. Payme extilication is on file. VATERBORNE PARKENERT TYPE LEBADS MDPA - Total 50.00 Entered by skipp1. ContractOnt car quantities for the material. Payme extilication is on file. Entered by skipp1. ContractOnt car part car sharepoint. 100 Feb 15, 100 ImportContractDataFromSiteManager \$2,490.00 Entered by skipp1. ContractOnt car sharepoint. 100 Feb 15, 100 ImportContractDataFromSiteManager \$2,490.00 Entered by skipp1. ContractOnt car reported. Partial payment is being reported. 1120 CLASS B-1 CONCRETE Other Item Adjustment. MDPA 8 Feb 15, 2020 ImportContractDataFromSiteManager \$5,061.00 Entered by skipp1. Maing on con Withhold payment unit reports ar toported. 1120 CLASS B-1 Other Item Adjustment - Total MDPA - Total 50.00 ContractOr CRE20 ample report reported. S0.00 1120 TRUCK OR (TMA) Other Item Adjustment - Total MDPA - Total 50.00 ContractOr CRE20 ample report reported. S0.00 1120 Total MDPA - Total 50.00								nent - <u>Total</u>	Other It <u>em Adjustn</u>		
1060 HGR SULD HGR SULD WARKING PAINT. TYPE L SAUD. (0) 4 N. YELLOW HGR SULD WARKING PAINT. TYPE L SAUD. (0) Other Item Adjustment MPA Algustment 9 Feb 15. 2020 ImportContractDataFromSiteManager (0) (62.490.00) (0) Entered by skipp!. Contractor cer gamilities for the material. Payme contraction ion min. sharepoint. 00 Feb 15. ImportContractDataFromSiteManager (0) 52.490.00 Entered by skipp!. Contractor cer gamilities for the material. Sharepoint. Sharepoint. 100 Feb 15. ImportContractDataFromSiteManager (0) Sharepoint. Sharepoint. 100 Total MDPA - Total Sharepoint. Sharepoint. Sharepoint. 100 Total MDPA - Total ImportContractDataFromSiteManager (0) (0) Entered by skipp!. Contractor cer gament is being release. 1120 CONCRETE CONCRETE Other Item Adjustment - Total MDPA - Total Sharepoint. Sharepoint. Sharepoint. 120 Total MDPA - Total Sharepoint. Sharepoint. Sharepoint. Sharepoint. 120 Total MDPA - Total MDPA - Total Sharepoint. Sharepoint. Sharepoint. Sharepoint. <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td>rotal</td> <td>0840 -</td>									rotal	0840 -	
MARKING PAINT TYPE L BEADS TYPE L BEADS ImportContractDataFromSiteManager Statepoint. \$2.490.00 Entered by glie]. Certification was sharepoint. 100 - Total MDPA - Total 50.00 50.00 100 - Total S0.00 50.00 50.00 1120 CONCRETE CONCRE		Entered by skippj1. Contractor certificati quanitities for the material. Payment will certification is on file.		ImportContractDataFromSiteManager		9	MDPA	GH BUILD Adjustment ERBORNE	4 IN. YELLOW HIGH BUILD WATERBORNE		
Other Item Adjustment - TotalS0.001060 - TotalCLASS B-1 CONCRETEOther Item AdjustmentMDPA A djustment8Feb 15, 2020InportContractDataFromSiteManager S2020(\$2.097.00) (\$2.097.00)Entered by skippi1. Contractor tere periode. Partial payment is being release tortactDataFromSiteManager(\$2.097.00)Entered by skippi1. Contractor tere periode. Partial payment is being release tortactDataFromSiteManager(\$2.097.00)Entered by skippi1. Contractor tere periode. Partial payment is being release tortactor CREASE B-1.01120CLASS B-1 CONCRETEAdjustment - TotalTotalImportContractDataFromSiteManager 2020(\$4.000.00)Entered by skippi1. Waiting on cor Withhoid payment is being release tortactor CREASE B-1.01220TRUCK OR TRALEROther Item Adjustment - TotalMDPA7Feb 15, 2020ImportContractDataFromSiteManager 2020(\$4.000.00)Entered by skippi1. Waiting on cor was uploaded into sharepoint. Pay merit is being withheid until ce was uploaded into sharepoint. Pay1220TRUCK OR TRALEROther Item Adjustment - TotalMDPA7Feb 15, 2020ImportContractDataFromSiteManager 2020(\$4.000.00)Entered by skippi1. Contractor ce was uploaded into sharepoint. Pay adjustment - Total1220 - TotalMDPA - Total7Feb 15, 2020ImportContractDataFromSiteManager 2020(\$4.000.00)Entered by skippi1. Contractor cer was uploaded into sharepoint. Pay 20201220 - Total	was recieved and is on file in	Entered by gillej. Certification was recieve sharepoint.	\$2,490.00	ImportContractDataFromSiteManager		10			MARKING PAINT,		
1060 - Total \$0.00 1120 CLASS B-1 CONCRETE Other Item Adjustment MPA E 8 Feb 15, 2020 ImportContractDataFromSiteManager (\$2,097.00) Entered by skipp1. Contractor is reported. Parital payment is being Withhold payment until reports are free/web.Parital payment is being release 1120 CONCRETE Adjustment Teb 15, 2020 ImportContractDataFromSiteManager (\$5,681.90) Entered by skipp1. Valiting on con Withhold payment until reports are free/web.Payment is being release 1120 Total MDPA - Total 50.00 Contractor CRE20 sample reports free/web.Payment is being release 1120 - Total MDPA - Total \$0.00 Entered by skipp1. Waiting on cor Payment is being withheld until ce \$0.00 1120 - Total TRUCK OR TRUCK OR TRUCK OR (TMA) Other Item Adjustment MDPA Mgustment 7 Feb 15, 2020 ImportContractDataFromSiteManager \$4,000.00 Entered by skipp1. Contractor ce was uploaded into sharepoint. Pay ment is being withheld until ce payment is being withheld until ce 1200 - Total MDPA - Total MDPA - Total \$0.00 Entered by skipp1. Contractor ce was uploaded into sharepoint. Pay ment is being withheld until ce 1202 - Total MDPA - Total \$0.00 Entered by skipp1. Entered by skipp1. 1200 - Total MDPA - Total \$0.00 Entered by skipp1. S0.00			\$0.00		MDPA - Total						
1120 CLASS B-1 CONCRETE Other Item Adjustment MPA 8 Feb 15, 2020 ImportContractDataFromSiteManager (\$2,097.00) Entered by skippi1. Contractor tes reported. Partial payment usi peing 15 Feb 15, 2020 ImportContractDataFromSiteManager (\$5,661.90) Entered by skippi1. Waiting on contractor tes reported. Partial payment usi peing release 16 Feb 15, 2020 ImportContractDataFromSiteManager (\$6,061.90) Entered by skippi1. Waiting on contractor tes reports received. Payment usi peing release 1120 Other Item Adjustment - Total MDPA - Tota \$0.00 Entered by skippi1. Waiting on contractor tes reports received. Payment is being withheld until ce 1120 TRUCK OR TABLER Other Item Adjustment MDPA 7 Feb 15, 2020 ImportContractDataFromSiteManager (\$4,000.00) Entered by skippi1. Waiting on contractor tes was uploaded into sharepoint. Pay was uploaded into sharepoint. Pay was uploaded into sharepoint. Pay 1220 TRUCK OR (TIMA) Other Item Adjustment MDPA - Total \$0.00 Entered by skippi1. Contractor ce was uploaded into sharepoint. Pay was uploaded into			\$0.00					nent - Total	Other Item Adjustn		
CONCRETE Adjustment Adjustment 2020 ImportContractDataFromSiteManager (\$5,661.90) Entered by skipp1. Waiting on convertence of Withhold payment until reports are over the ove			\$0.00						otal	1060 -	
Image: book of the second s		Entered by skippj1. Contractor testing a reported. Partial payment is being withh	(\$2,097.00)	ImportContractDataFromSiteManager		8			1120		
$\begin{tabular}{ c c c c c c } & \begin{tabular}{ c c c c c c c } & \begin{tabular}{ c c c c c c c c c c c c c c c c c c c$	ts are submitted through CRE2O.	Entered by skippj1. Waiting on contractor Withhold payment until reports are subm			2020						
Other Item Adjustment - TotalS0.001220 - TotalS0.00Entered by skippi1. Waiting on correspondence on the big withheld until cere1220TRUCK OR TRAILER MOUNTOR (TMA)Other Item Adjustment (TMA)Adjustment MDPA - Total7Feb 15, 2020ImportContractDataFromSiteManager 2020\$\$4,000.00Entered by skippi1. Waiting on correspondence on the big withheld until cereMDPA - TotalMDPA - TotalMDPA - TotalS0.00Entered by skippi1. Contractor cere was uploaded into sharepoint. PayOther Item Adjustment - TotalMDPA - TotalS0.00Entered by skippi1. Contractor cere was uploaded into sharepoint. Pay1220 - TotalMDPA - TotalMDPA - TotalFeb 15, 2020ImportContractDataFromSiteManager 2020\$\$0.00Entered by skippi1. Contractor cere was uploaded into sharepoint. Pay1220 - TotalMDPA - TotalPayMDPA - TotalFeb 15, 2020ImportContractDataFromSiteManager 2020\$\$0.00Entered by skippi1. Contractor cere was uploaded into sharepoint. PayMDPA - TotalMDPA - TotalPayMDPA - TotalFeb 15, 2020ImportContractDataFromSiteManager\$\$0.00Entered by skippi1. Contractor cere was uploaded into sharepoint. Pay S0.001220 - TotalMDPA - TotalMDPA - TotalFeb 15, 2020ImportContractDataFromSiteManager\$\$0.00Entered by skippi1. Contractor cere was uploaded into sharepoint. Pay S0.001270 - TotalMDPA - TotalMDPA - S		Contractor CRE2O sample reports were received. Payment is being released.		skippj1	2020						
1120 Total S0.00 1220 TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA) Other Item Adjustment MDPA B 7 Feb 15, 2020 ImportContractDataFromSiteManager \$4,000.00 Entered by skipp1. Contractor cer was uploaded into sharepoint. Pay MDPA - Total 1220 Total MDPA - Total \$0.00 Entered by skipp1. Contractor cer was uploaded into sharepoint. Pay MDPA - Total 1220 Total MDPA 7 Feb 15, 2020 ImportContractDataFromSiteManager \$4,000.00 Entered by skipp1. Contractor cer was uploaded into sharepoint. Pay S0.00 1220 Total MDPA - Total \$0.00 Entered by skipp1. Contractor cer was uploaded into sharepoint. Pay S0.00 1220 FLASHING ARROW PANEL Other Item Adjustment MDPA 7 Feb 15, 2020 ImportContractDataFromSiteManager \$3,000.00 Entered by skipp1. Contractor cer was uploaded into sharepoint. Pay MDPA - Total 1270 Total MDPA - Total \$0.00 Entered by skipp1. Contractor cer was uploaded into sharepoint. Pay S0.00 Entered by skipp1. Contractor cer was uploaded into sharepoint. Pay S0.00 \$0.00 Entered by skipp1. Contractor cer was uploaded into sharepoint. Pay S0.00 Entered by skipp1. Contractor cer was uploaded into sharepoint. Pay S0.00 Entered by skipp1. Contractor cer was uploaded into sharep											
1220 TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA) Other Item Adjustment (TMA) MDPA 7 Feb 15, 2020 ImportContractDataFromSiteManager (\$4,000.00) Entered by skippj1. Waiting on con Payment is being withheld until ce 0 MDPA - Total 8 Feb 15, 2020 ImportContractDataFromSiteManager \$4,000.00 Entered by skippj1. Contractor cer was uploaded into sharepoint. Pay suploaded into sharepoint. Pay 1220 - Total MDPA - Total \$0.00 Entered by skippj1. Contractor cer was uploaded into sharepoint. Pay 1220 - Total MDPA - Total \$0.00 Entered by skippj1. Contractor cer was uploaded into sharepoint. Pay 1220 - Total MDPA - Total \$0.00 Entered by skippj1. Contractor cer was uploaded into sharepoint. Pay 1220 - Total MDPA - Total \$0.00 Entered by skippj1. Contractor cer was uploaded into sharepoint. Pay 1220 - Total MDPA - Total \$0.00 Entered by skippj1. Contractor cer was uploaded into sharepoint. Pay 1230 - Total MDPA - Total \$0.00 Entered by skippj1. Contractor cer was uploaded into sharepoint. Pay 1330 - Total TemPORARY 4 IN, WHITE 4 IN, WHITE MDPA - Total ImportContractDataFromSiteManager 2020 \$1,200.00 Entered by skippj1. Contractor cer was uploaded into sharepoint. Pay										4400	
$\begin{tabular}{ c c c c c c } \hline ATTENUATOR (TMA) & ATTENUATOR (TMA) & MDPA - Total & MDPA - Total & MDPA - Total & MDPA - Total & $0.00 & $$		Entered by skippj1. Waiting on contractor Payment is being withheld until certificat		ImportContractDataFromSiteManager		7			TRUCK OR TRAILER		
$\begin{tabular}{ c c c c } \hline \begin{tabular}{ c c c c c } \hline \begin{tabular}{ c c c c c c c } \hline \begin{tabular}{ c c c c c c c c c c c c c c c c c c c$		Entered by skippj1. Contractor certificati was uploaded into sharepoint. Payment	\$4,000.00	ImportContractDataFromSiteManager		8			ATTENUATOR		
1220 - Total \$0.00 1270 - FLASHING ARROW PANEL Other Item Adjustment MDPA 7 Feb 15, 2020 ImportContractDataFromSiteManager \$\$3,000.00 Entered by skippj1. Contractor cer was uploaded into sharepoint. Pay MDPA - Total MDPA - Total ImportContractDataFromSiteManager \$\$3,000.00 Entered by skippj1. Contractor cer was uploaded into sharepoint. Pay MDPA - Total MDPA - Total ImportContractDataFromSiteManager \$\$0.00 Intered by skippj1. Contractor cer was uploaded into sharepoint. Pay 1330 TEMPORARY REMOVABLE Alignment - Total Other Item Adjustment Adjustment Adjustment MDPA - Total \$\$0.00 Entered by skippj1. Contractor cer was uploaded into sharepoint. Pay 1330 TEMPORARY REMOVABLE Adjustment Adjustmen			\$0.00		MDPA - Total						
1270 FLASHING ARROW PANEL Other item Adjustment MDPA 7 Feb 15, 2020 ImportContractDataFromSiteManager (\$3,000.00) Entered by skippj1. 1270 MDPA - Total MDPA - Total \$0.00 Entered by skippj1. Entered by skippj1. 1330 TEMPORARY 4 IN., WHITE Other Item Adjustment MDPA - Total \$0.00 Entered by skippj1. 1330 TEMPORARY 4 IN., WHITE Other Item Adjustment MDPA - Total \$0.00 Entered by skippj1. 1330 TEMPORARY 4 IN., WHITE Other Item Adjustment MDPA - Total \$0.00 Entered by skippj1. 1330 TEMPORARY 4 IN., WHITE MDPA - Total \$0.00 Entered by skippj1. MDPA - Total MDPA - Total \$0.00 Entered by skippj1.			\$0.00					nent - Total	Other Item Adjustn		
ARROW PANEL Adjustment 2020 Import ContractDataFromSiteManager \$3,000.00 Entered by skippj1. Contractor cer was uploaded into sharepoint. Pay more than the sharepoint of the sharepoint. Pay more than the sharepoint of the sharepoint. Pay the sharepoint of the sharepoint. Pay the sharepoint of the sharepoint. Pay the sharepoint of the sharepoint of the sharepoint of the sharepoint. Pay the sharepoint of the sharepoint o			\$0.00						Total	1220 -	
Image: Second secon		Entered by skippj1.	(\$3,000.00)	ImportContractDataFromSiteManager		7				1270	
Other Item Adjustment - Total \$0.00 1270 - Total \$0.00 1330 TEMPORARY REMOVABLE 4 IN., WHITE Other Item Adjustment 4 IN., WHITE MDPA 6 Feb 15, 2020 ImportContractDataFromSiteManager 2020 \$1,200.00 Entered by skippj1. MDPA - Total MDPA - Total MDPA - Total \$0.00 Entered by skippj1.		Entered by skippj1. Contractor certificati was uploaded into sharepoint. Payment		ImportContractDataFromSiteManager							
1270 - Total \$0.00 1330 TEMPORARY REMOVABLE MARKING TAPE 4 IN., WHITE Other Item Adjustment 4 IN., WHITE MDPA 3 Feb 15, 2020 ImportContractDataFromSiteManager 2020 (\$1,200.00) Entered by skippj1. MDPA - Total MDPA - Total MDPA - Total \$0.00 Entered by skippj1.			\$0.00								
1330 TEMPORARY REMOVABLE 4 IN., WHITE Other Item Adjustment MDPA 3 Feb 15, 2020 ImportContractDataFromSiteManager (\$1,200.00) Entered by skippj1. 6 Feb 15, 2020 ImportContractDataFromSiteManager \$1,200.00 Entered by skippj1. Contractor cer MDPA - Total			\$0.00					nent - Total	Other Item Adjustn		
REMOVABLE MARKING TAPE 4 IN., WHITE Adjustment 2020 ImportContractDataFromSiteManager \$1,200.00 MDPA - Total \$0.00			\$0.00						otal	1270 -	
4 IN., WHITE 6 Feb 15, 2020 ImportContractDataFromSiteManager \$1,200.00 Entered by skippj1. Contractor cer					2020		MDPA		REMOVABLE Adjustmer	1330	
	r certification on file in sharepoint.	Entered by skippj1. Contractor certificati		ImportContractDataFromSiteManager							
Chlore How Adjustment Tatal						al	MDPA - Tota				
			\$0.00					nent - Total	Other Item Adjustn		
1330 - Total \$0.00			\$0.00						otal	1330 -	



Line	Description	Adjustment	Other	Est.	Created	Created By	Amount	Remarks				
		Туре	Adjustment Type	Number	Date							
1340		Other Item Adjustment	MDPA	3	Feb 15, 2020	ImportContractDataFromSiteManager	(\$3,000.00)	Entered by skippj1.				
				6	Feb 15, 2020	ImportContractDataFromSiteManager	\$3,000.00	Entered by skippj1. Contractor certification on file in sharepoint.				
			MDPA - Tota	al			\$0.00					
	Other Item Adjustment - Total						\$0.00					
1340 -	Total						\$0.00					
1350	TEMPORARY REMOVABLE MARKING TAPE, 24 IN., WHITE	Other Item Adjustment	MDPA		Feb 15, 2020	ImportContractDataFromSiteManager	(\$276.00)	Entered by skippj1.				
				6	Feb 15, 2020	ImportContractDataFromSiteManager	\$276.00	Entered by skippj1. Contractor certification on file in sharepoint.				
			MDPA - Tota	al			\$0.00					
	Other Item Adjustn	nent - Total					\$0.00					
1350	Total						\$0.00					
1360	4 IN. YELLOW Other Item HIGH BUILD Adjustment WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	HIGH BUILD Adjustment ATERBORNE PAVEMENT KING PAINT,		8	Feb 15, 2020	ImportContractDataFromSiteManager	(\$417.00)	Entered by skippj1.				
				10	Feb 15, 2020	ImportContractDataFromSiteManager	\$417.00	Entered by gillej. Certification was received and is on file in sharepoint.				
			MDPA - Tota	al			\$0.00					
	Other Item Adjustn	nent - Total					\$0.00					
1360 -	Total						\$0.00					
1370		UILD Adjustment DRNE MENT AINT,	MDPA	7	Feb 15, 2020	ImportContractDataFromSiteManager	(\$1,518.00)	Entered by skippj1. Partial payment is being withheld due to unsatisfied placement of the white edge line on the eastbound lane. Payment will be released once the sub has removed the stripe and placed the stripe back straight.				
										9	Feb 15, 2020	ImportContractDataFromSiteManager
	MDPA - Total						\$0.00					
	Other Item Adjustment - Total						\$0.00					
1370 -	Total						\$0.00					
1410	MISC. REMOVE AND REPLACE BARRIER CURB	CE Adjustment		6	Feb 15, 2020	ImportContractDataFromSiteManager	(\$2,270.00)	Entered by skippj1. Contactor samples and tests have not been received. Partial payment is being withheld. Discrepancy will be resolved before next estimate.				
				7	Feb 15, 2020	ImportContractDataFromSiteManager	\$2,270.00	Entered by skippj1. Contractor supplied tests and have been approved in sitemanager. Payment is being released.				
	MDPA - Total						\$0.00					
	Other Item Adjustn	nent - Total					\$0.00					
1410	Total						\$0.00					
1440	PROTECTIVE COATING - CONCRETE BENTS AND PIERS (EPOXY)			6	Feb 15, 2020	ImportContractDataFromSiteManager	(\$4,535.23)	Entered by skippj1. Contactor samples and tests have not been received. Payment is being withheld. Discrepancy will be resolved before next estimate.				
				8	Feb 15, 2020	ImportContractDataFromSiteManager	\$4,535.23	Entered by skippj1. Work has not been done yet. Paid for this item by accident. Did a negative payment to fix until work is done by the subcontractor.				
							\$0.00					
			MDPA - Tota	al								
	Other Item Adjustn	nent - Total	MDPA - Tota	al			\$0.00					
1440 -	Other Item Adjustn Total	nent - Total	MDPA - Tota	al 								